MATH180C: Introduction to
Stochastic Processes Il

Today: Asymptotic behavior of
renewal processes
Next: PK 7.5, Durrett 3.1, 3.3

Week 6:

* HW5 due Friday, May 12 on Gradescope
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Exomple : Age ®placement policies (PK, p.363)

Se{:t{no\:— componevx’c's Lifelime has distribution Hunction F
J

- oomPonevac is re‘;\acaé
(A) either when it fals |
() or ofter re_mc—h(h3 age T (qul\
whichever occurs first
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r‘ePlo\cemew\’ of a fouled comPohev\{ (M) s more

e)c?av\s(\/e than the Plu_nnevi rcp\acement' (®)
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ale,Pe_vxd on The wst of (A), (R) ond o.aaT?
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Exomple : Age mplacement policies (PK, p.363)
Notation: X; - lifetime of (-th CQW\PoheV\JC ) Fx: ()= F (&)
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Example : Age replacement policies (PK | 5. 363)
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Exomple : Age mplacement policies (PK, p.363)
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Exomple : Age mplacement policies (PK, p.363)
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Exomple : Aae replacement policies (PK | p.363)

Suﬂmse that The cost of one rploacement is K | and
each FQP\chmen{' due +o o foulure covks additional ¢
Then , (n the [cnj cun the total amount spent on the
Ceplocements of the omponent per wnt of time
s given by
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oPJt'\mm\ value of T.



Exomple : Age replacement policies (PK | p.363)

For Qx&mP\e_. & K=1, c=u ond X, ~Unif[o1) (F)= Xlll(oﬂ\
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